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(ﬁg) é’\ 20 =100, Ax=0. 0595‘7 Ax *HXHL:J: Xy iﬁ?d‘vﬂﬁﬁiﬁé@ﬁ'ﬂﬂ&ﬁﬂé*ﬁ

flao A~ f(x) + f(x) Az

=(1040.4X10040. 01 X1007 )+ (10+0. 4x+0. 0127 )’

=100

0.01

2 [x
=50. 120 025(+4270).

L SRF 91 R8T 25 72 25 1 1 38 B RO
(1) y=22"+4,2 )\ 0455 0. 01;
(2) y=2x+3,x )\ 2 2% 1. 99.
2. SR A e E ) o0
(1) y=z"+22; (2) y=2"—=x

:50.1+(0.4+ )‘ X 0. 05
=100

o=
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(3) y:%; (4) y=rcos2x+ttanx;
(5) y=(x+2)°; (6) y=3".
3. THE T 5 ek B T RUA.
(1) /1.001; (2) Inl. 02;
(3) tan0.01; (4) e,

4. EM—IEBRARK 2=5 m, QR E R KGN 0. 01 m., SR 4§ i i (R FR B0 o (B 5 i
A

ISR

L SRR 21 R R0 5 5L

(1) y=2*+2"+1n2; (2) y=¢e*sin3x;
— .sinz | :7I+1-
(3) y=x"; 4) y 1
(5) y=sinx+tarccosx; (6) y=Inx+Inlnz+Inlnlnz.
2. R TAN TR E R R ERE y=y(2) I FHL.
. g pdy . oo pdyl
(1) 2e*—2cosy—1 O’:‘kdx ;0%, (2) e 2P —y O,:kdI :::J,
oy o . _dy
(3) ysinx—cos(x y)fO,;ka; 4) y=f(x+y),Hrp f(u)ﬁfﬁ,)‘ka.
3. RF IS AR B R BT L.
r=Int \dy d2y x=secl ‘dy dZy
<1>{yt2 Kzl @ D g T

() Jx:t*arctént,}‘diy.
ly=In(1+¢) 7 dr
4. SR AT AR € S VI 7 R AN 28 07 2.

(1) y=e",x=0; (2) zy+Iny=1,581,1);
x = 2cost

(3) =
y=/3sint

T

5. 3K 1R A 5 R i ) AR AR A s AL R )2 R
, . Jx:cz”cosﬁ
(D) 2"+ ayt+y"=7,503,—2); (2) L 0=—
IyZezgsmﬁ 2

6. SRF AR EHY oy dy.

(1) y= /ﬁ, (2) yZI*COSZIJJFﬁ?dy\E:w];
(3) y=e“sinbx(a.b HHEED; 4 y:%;

47




48

28 OF B R R il

10.

(5) y=nx)".

FIH o3 3 AL 3R 9 45 KL

(1) /1.001; (2) e
(3) Inl.008; (4) sin0. 02.
TAN &R, ) Al R

(D & y= [T,k

a;

(2) & y:yff(1*2x),>}€%;

(3) % y= fCsine) +sinf () R,

- SRR B pR B S L

(1) y=a" 3K y7 .55

(2) y=2",3K 3",y

(3) y=+a?)arctanx, 3K ';

(4) y=In(a+ /T+a") 3k y.

— 3 G 1] Bz s T ik e Bz R T s e B AR o HE o S I (]
Y PREY

I ] B2 s) .




